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RIERIRO TIRISBET 5L RlERBA
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=] = AN E AN | o= = RN = YA\ = =
&5 X 4 ,(Er,na: ‘Fm;ﬁ(z)ﬂ)ﬁﬁ%ﬁ j@fﬁé X 4 —Fiﬁﬁﬁggz(?,;k; r(:.—r,j jj(:')frf)é X 4 ,(Er::c; J:m;b(z)o)tt.s; jj(ﬁ?t;ié X 4 J:mf)(z)o)tt.s; .z.na; jj(ﬁ?tm%)é
7 100kN/m%E#8z5 | 1.00 | 000 ~ 272 14283 |3m&x#Bz5| — ~ — — — | 100kN/m%#z25 | 1.00 | 1055 ~ 2400 142.83 |3mE#¥z23 - ~ — — —
st 1.00 | 272 ~ 1050 100.00 | =L | .00 ~ 1050 267 13.48 Thst 1.00 | 5.00 ~ 1055 100.00 | =nLSt | 6.00 ~ 2400 2.67 13.48
2 100kN/m#E#Z5 | 1.00 | 000 ~ 253 139.71 |3m&E#ZB| — ~ — — — | 100kN/m%#82% | 1.00 | 1093 ~ 2628| 139.71 |3m&E#BZ5 - ~ — — —
zhLst 1.00 | 253 ~ 1032 100.00 | Fhist | 0.00 ~ 1032| 2.87 14.51 znLst 1.00 | 5.00 ~ 1093 100.00 | =nlst | .00 ~ 2628| 2.87 14.561
3 100kN/m%E#BZ5| 100|000 ~ 295 146.79 |3m&EBZB| 000 ~ 003] 5.02 15.24 | 100kN/m#%i#Bz25 | 1.00 | 1075 ~ 3144 | 146.79 |3mZE#BZB| 3000 ~ 31.44| 3.02 15.24
st 1.00 | 295 ~ 1073 100.00 | =0t | 0.03 ~ 1073| 3.00 156.16 Thlst 1.00 | 5.00 ~ 1075 100.00 | =hst | 5.00 ~ 3000 3.00 15.16
4 100kN/m%#8%z% | 1.00 | 000 ~ 323| 151.73 |3mEBZ%| 000 ~ 1.12| 3.61 17.74 | 100kN/m%i#8z25% | 1.00 | 1071 ~ 40.03| 151.73 |3mZE#BZB| 3000 ~ 40.03| 3.51 17.74
st 1.00 | 823 ~ 1102 100.00 | =0t | 1.12 ~ 1102 3.00 156.16 Thst 1.00 | 5.00 ~ 10.71 100.00 | =hst | 5.00 ~ 3000 3.00 15.16
5 100kN/m#E#BZ5 | 1.00 | 000 ~ 314 150.18 |3mZ#BZ 5| 000 ~ 001 301 15,20 | 100kN/m%#8z2% | 1.00 | 10.79 ~ 3986 150.18 |3m%E#BZ 3| 30.00 ~ 39.86| 3.01 15.20
Lt 1.00 | 814 ~ 1093 100.00 | =0t | 0.01 ~ 1093 3.00 156.16 Thst 1.00 | 5.00 ~ 10.79 100.00 | =hst | 5.00 ~ 3000 3.00 15.16
p 100kN/m%E#BZ5 | 1.00 | 000 ~ 313 149.89 |3mEHBZD| 000 ~ 1.05| 347 17.56 | 100kN/m#%i#Bz25% | 1.00 | 1082 ~ 4104 | 149.89 |3m&E#BZB| 4000 ~ 41.04| 547 17.56
ZhLst 1.00 | 813 ~ 1091 100.00 | #hst | 1.05 ~ 1091| 3.00 156.16 znLst 1.00 | 5.00 ~ 1082 100.00 | #ns | .00 ~ 40.00| 3.00 15.16
. 100kN/mM%EBZ5 | 1.00 | 000 ~ 2.79| 144.03 |3mEEZD| 000 ~ 089 | 3.39 1711 | 100kN/m%#Bz5 | 1.00 | 11.23 ~ 41.04| 144.03 |3m&E#BZB| 20.00 ~ 41.04| 3.39 17.11
ThnLst 1.00 | 279 ~ 1057 100.00 | FThs | 089 ~ 1057] 3.00 15.16 Fhst 1.00 | 6.00 ~ 1123 100.00 | FHLS | 65,00 ~ 40.00| 3.00 15.16
P 100kN/M%EBZ5 | 1.00 | 000 ~ 200| 130.92 |3mEEZD| 000 ~ 057|323 16.33 | 100kN/m%i#8z5 | 1.00 | 1269 ~ 41.04| 130.92 |3m&E#BZB| 2000 ~ 41.04| 323 16.33
ThLlst 100|200 ~ 9.79| 100.00| This | 057 ~ 9.79| 3.00 15.16 TnLst 1.00 ] 500 ~ 1269 100.00| ThLS | 500 ~ 40.00| 3.00 156.16
9 100kN/m%#8=25% | 1.00| 000 ~ 210| 13256 |3m&EB2B| — ~ — — — | 100kN/m%E#Z25 | 1.00 | 11.36 ~ 2403 132.56 |3mEx#Bz2% - ~ — — —
ThLlst 100|210 ~ 989\ 100.00| hiH | 000 ~ 989|249 12.59 TnLst 100 5600 ~ 11.36| 100.00 | ThLS | 500 ~ 24.03| 2.49 12.59
10 100kN/ MZ#2Z % — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — | 3m%EHBZ B - ~ — — —
ThLlst 1.00 1 0.00 ~ 7.61 97.43 | =nLs | 000 ~ 761 1.93 9.76 Fhst 1.00 | 6.00 ~ 1200 97.43 | =ns | 5,00 ~ 1200| 1.93 9.76
11 100kN/ MZ#2Z % — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — | 3m%E{BA B - ~ — — —
zhLlst 1.00 | 000 ~ 740 94.50 | Ths | 000 ~ 740 1.95 9.86 Fhst 1.00 | 500 ~ 1094 94.50 | Fhst | 5,00 ~ 1094| 1.95 9.86
12 100kN/MZ#2Z % — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — | 3mE{BZB - ~ — — —
FhLst 1.00 | 0.00 ~ 4.52 56.39 | =hLs | 000 ~ 000 1.67 7.91 Fhst 1.00 | 6.00 ~ 5.00 56.39 | =ns | 5,00 ~ 6.00| 1.567 7.91
13 100kN/m%#825% | 1.00| 000 ~ 1.23| 11860 |3mEB2B| — ~ — — — | 100kN/m%#z25 | 1.00 | 1058 ~ 1464 11860 |3mE#BZ3 - ~ — — —
ThLlst 100|123 ~ 902\ 100.00| ThiH | 000 ~ 902|214 10.80 TnLst 100 5.00 ~ 1058 100.00| ThLS | 500 ~ 14.64| 2.14 10.80
14 100kN/mMZ#825 | 1.00 | 000 ~ 1.61 124.56 |3mZE#BASH| — ~ — — — | 100kN/m%#BZ2% | 1.00 | 1055 ~ 1596| 124.56 |3mE#BZS - ~ — — —
ThLlst 100|161 ~ 939 100.00| FhLs | 000 ~ 939 2.41 1218 ZnList 100 500 ~ 1055 100.00| TnLSY | 5,00 ~ 159 | 2.41 12.18
15 100kN/ MZ#2Z % — Sl — —|3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — |3m%E{BZ B - ~ — — —
ThLlst 1.00 | 000 ~ 762 97.66 | #his |0oo ~ 762|216 10.94 TnLst 1.00 | 5.00 ~ 1013 97.66 | Fhst | 6.00 ~ 1013| 2.16 10.94
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16 100kN/mM#8Z % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
st 1.00 | 0.00 ~ 5.60 69.88 | FnLSY | 000 ~ 0.00| 1.60 810 Thst 1.00 | 5.00 ~ 6.50 69.88 | =nLst | 5,00 ~ 6.50| 1.60 810
17 100kN/mM%#BZ % — - ~ — —|3mZEB2B| — ~ — — — | 100kN/mM%#8% % — - ~ — — |3ImEBZD - ~ — — —
zhLst 1.00 | 0.00 ~ 423 52.93 | =nLs | 000 ~ 423 2.03 10.28 st 1.00 | 5.00 ~ 56.12 52.93 | #hs | 5,00 ~ 612|203 10.28
18 100kN/mM%#BZ % — - ~ — —|3mZEB2B| — ~ — — — | 100kN/mM%#8% % — - ~ — — | 3ImEBZD - ~ — — —
st 1.00 | 0.00 ~ 466 5808 | =nLS | 000 ~ 466 1.97 9.985 Thlst 1.00 | 5.00 ~ b5.44 58.08 | =nst | 5.00 ~ 6,44 | 1.97 9.95
19 100kN/m%E#Bx5 | 1.00 | 000 ~ 174 126.65 |3mZzEBZB| — ~ — — — | 100kN/m%#z25 | 1.00 | 1059 ~ 17.05| 126.65 |3mE#z25 - ~ — — —
st 100|174 ~ 952 100.00 | =nst | 0.00 ~ 9.52| 2.32 11.72 st 1.00 | 5.00 ~ 10.59 100.00 | =hst | 6.00 ~ 1705| 2.82 11.72
100kN/mM#{BZ % ~ ImEHBZRD ~ 100kN/mM%#8% % ~ IMERBZD ~
zhLst ~ zhst ~ st ~ st ~
100kN/mM%E#BZ % ~ ImEHBZRD ~ 100kN/ Mm% % % ~ 3mERBAD ~
ZhLst ~ st ~ st ~ st ~
100kN/mMZ#2 2 % ~ ImEHBRD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
zhsn ~ zhsn ~ ZznLst ~ ZznLst ~
100kN/MZ#2 2 % ~ 3mEBRD ~ 100kN/ M#%#BZ % ~ ImEBZD ~
Thsn ~ Thsn ~ znLst ~ ZznLst ~
100kN/M%#2Z % ~ 3mEHBRD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ zhsn ~ ZznLst ~ ZznLst ~
100kN/ MZ#2Z % ~ 3mEHBRD ~ 100kN/ Mm%z 5 ~ ImEREZD ~
ThLlst ~ Thilst ~ TnLst ~ ZznLst ~
100kN/ MZ#2Z % ~ ImEHBRD ~ 100kN/ Mm%z 5 ~ ImEREZD ~
zhsn ~ Thsn ~ ZznLst ~ ZznLst ~
100kN/MZ#2Z % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
Thsn ~ Thsn ~ ZznLst ~ ZFnLst ~
100kN/ MZ#2Z % ~ 3mEHBRD ~ 100kN/ Mm%z 5 ~ ImEREZD ~
Thsn ~ Thsn ~ ZznLst ~ ZznLst ~
100kN/ MZ#2Z % ~ ImEHBRD ~ 100kN/ Mm%z 5 ~ ImEREZD ~
ThLlst ~ Thilst ~ ZnList ~ ZznLst ~
100kN/ MZ#2Z % ~ ImEHBRD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ zhsn ~ ZznLst ~ ZnLst ~




